ASSEMBLY INSTRUCTION — SRS-4-A

S MAINFRAME:

www.mainframemfg.com

PACKAGE CONTENTS

For Depth Adjusting

For Rack Mounting

Tools Required M6*12 M6 Plastic ~ 10-32 10-3

« Screwdriver Screw Flange Nut Washer Screw Cage Nut
« Wrench

- Cage Nut Tool (recommended) 12 sets 8 sets

Note: Ships pre-assembled at 505 mm (19.88") depth.

(8 pre-assembled)

INSTALLATION

Prepare the rack

Select the desired U(rack unit) position. On both the front
and rear vertical mounting rails, insert 10-32 cage nuts
from the rear side and snap them into place at the
matching U holes.

Install the center supports

Attach the two center support bars using M6 screws and
flange nuts. Tighten them enough to secure the bars, but
leave final torque for the end.

Set the shelf depth

Loosen the M6 hardware on the front-to-back ears, slide
to the required depth between 505 and 935 mm (19.88 to
36.88 in), align with the vertical rails, then lightly tighten
the M6 screws to hold the setting.

Mount and tighten
With the shelf sides and the bracket facing up, hook the
brackets over the rails, then loosely the front 10-32
screws (bottom hole first, then top) and screws into the
cage nuts. Once level, tighten all screws without
overtightening.

V.10




